RC ( @3400mm)

7.41m

Hw:

3000
Do 2 (2Do  Ho)
Do 2 (2Do<Ho)  Terzaghi
2
2 2
1-1 1-2 1
N
(H) N) () © v) [\ I
1.890 15 20 0 17.500 8.500
<7 GL-1.89m
1.410 15 20 0 17.500 8.500
1.000 5 0 15 16.500 7.500
Ho=9.300m
1
£ E 4.200 33 28 0 18.000 9.000
—
® ©
o o
T
s =
I T
0.800 41 32 0 19.000 10.000
Do=3.400m
v =19.000
v'=10.000

RC



1-4

RC

A k
A 1 (
2 ) ( ) k
(AN (k)
k(MN/m?) k(MN/m3)
10 20 40 80 0 2.5 5.0 10
A A
0.4 o o 0.6 o o
0.5 o o o o 0.7 o o o o
0.6 o o o) o 0.8 o o o o
0.7 o o 0.9 o o
AN) (k)
A k(MN/m3) N
0.35 0.45 30 50 30 N
0.45 0.55 10 30 15 N 30
0.50 0.60 0 10 N 15
0.35 0.45 30 50 25 N
0.45 0.55 10 30 8 N 25
0.45 0.55 5 10 4 N 8
0.55 0.65 5 10 4 N 8
0.65 0.75 0 5 2 N 4
0.75 0.85 0 N 2
1 o
2 )
A =040
= 40 (MN/m3)




2-1

CRHFL

-2.1.1
Do mm 3400
Di mm 3100
Di* mm 3000
B mm 1200
h mm 150
) h* mm 200
Rc’ mm 1600.0
Dr mm 3200
(o < 0
Nsg 5
Wi kN/m 51.080

RC



A B )
Uﬂﬂ@ U — )
| = | |
[ T D }
; i) ;
M D22 ]
D22 A mm 23
4 B mm 11
mm 85 C mm 164
mm? 1548.4 D mm 100
2 ) mm? 925
mm 22
mm 265
B
TUn-HAEWER A
B mm 1200 9
h mm 150 B
h' mm 200
db mm 85
Asb mm? 1548.4

RC

=]



(1)
Wo = 10.000 (KN/m?)
O O
( Wo
() )
-2.2.1
(2)

Po = 0.000 (KN/m?2)

Po

-2.2.2

RC



3-1

()

3-2

(1)

3-3

3-4

Es

Oca

Ta

Osa

=15

16 (N/mm?)

0.73 (N/mm?)

200 (N/mm?)

33 > 103 (N/mm?)

4.6 6.8 8.8 10.9
(N/mm?) 120 210 290 380
(N/mm?) ) 150 200 270

4.6 6.8 8.8 10.9

(N/mm?) 240 480 660 940

(N/mm?) 400 600 830 1040
15

Ocs =15 < 1.5=225 (N/mmz)

RC




1.5 < Do<Ho
Terzaghi
(1) Ovu
Bi (y1-Ci/B1) Ko tan
= -e 1 H1/Bl -Ko tanpr Hi/B1i
Ot =T tang: (1 )+ (Po+Wo) e ™
o = B1 ( Y2 - C2/B1 ) ( 1 e-|<0 tan2 H2/B1 Ko tanepz H2/B1
2 = -
” Ko tancpz )+ Ou e
B i-Ci/B
Cun = r (Y 1) (1- e-Ko tanei  Hi/ B1 N . Ko tanepi Hi/B1
Ko tancpi )+ Oui1 e
o _ B1 ( Y - Cn/ B1 ) ( 1- e-Ko tancpn  Hn/ B1 Ko tanen Hn/Bi
© Ko tancpn )+ Ooun1 e
Tt/ 4+@u/2
Bi =Ro cot( )
2
Tt/ 4+30°/2
=1.700 > cot ( 5 ) =2.944 (m)
®=0
oui=(Yyi-Ci/Bi1) Hi+ Oui1
2B1
Po

i“/\;g

| |
I I

: O © @
1 1

o~ ! |

- ‘mouz 12 C2 b2
| |
| |
I I
| |
I I
1 1

. | Tui !

h [T @
| |
—

IC i Y 'Th Cn fbn

-4.1.1

RC



Ovu

(i) (m) vi (KN/m3) @i (<) Ci (kN/m?) | oui (kN/m?) | oui (kN/m?)
1 1.890 17.500 20 0 0.000 29.495
2 1.410 8.500 20 0 29.495 35.775
3 1.000 16.500 0 15 35.775 47.180
4 4.200 9.000 28 0 47.180 48.590
5 0.800 10.000 32 0 48.590 48.359
O = 48.359 (KN/m?)
1.5Do = 47.450 (KN/m?)
1.5Do Psv = 48.359 (kN/m?)
Ovu ho
Ovu
ho =

Yi

oOu 0 =5.155 (m)

o = 6.410 (m)

o =1.000 (m)

o Hw = 7.410 (m)

RC




4-2

1)

@)

i Pw

: Psv

. Pwy

Pv1

: Pr1

. Psht

: Pwa

Pr1

- We= 10.000 (kN/m?)

+ Po= 0.000 (kN/m?)

= 48.359 (kN/m?)

=wyw (Hw-Do)

=10.000 >< (1 10.810 - 3.400)

= 74.100 (kN/m?)

=Wo+ Po+ Psv+ Pwy
=10.000 + 0.000 + 48.359 + 74.100

= 132.459 (KN/m?)

WH=2A  Wo=0.40 > 10.000 = 4.000 (KN/m?)
:Pu=2A Po=0.40 > 0.000 = 0.000 (kN/m?

=N (Psv+y' (Do/2-Rc"))

=0.40 >< (48.359 + 10.000 >< (3.400 /2 - 1.600))
=19.744 (kN/m?)

=yw (Hwh-Do/2-Rc")

=10.000 > ( 10.810 - 3.400 / 2 - 1.600 ) = 75.100 (kN/m?)

= Wh + PH + Psm + Pw1

=4.000 + 0.000 + 19.744 + 75.100 = 98.844 (kN/m?)

RC



®)

4)

Wg:

D Pr2

Psh2 =N (Psv+vy' (Do/2+Rc"))
=0.40 > (148.359 + 10.000 > (3.400 /2 + 1.600))

= 32.544 (KN/m?)

Pw2 =wyw (Hwh-(Do/2-Rc"))
=10.000 =< (10.810 - (3.400 /2 - 1.600))

= 107.100 (kN/m?)

Prz = WH + PH + Pshz2 + Pw2

=4.000 + 0.000 + 32.544 + 107.100 = 143.644 (kN/m?)

Pg

Im wg = 51.080 N/m
Wy

Wg 51.080

= = 5.081 (kN/m?)
2 TC RC' 2 > 7T > 1.6000

Po= Tt W, = 7T < 5.081 = 15.962 (kN/m?)

RC
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(®)

g=k S

k =40 (MN/m?)

= 40000 (kN/m?) a
S (m)
e}
-4.2.1
(2 Pvi-Pui-Pu2) Rc*™
O =
24 (N Es 1s+0.0454 k Rc*)

n : 80 (%)

Es : 33 (kN/mm?) = 33><10° (kN/m?)

Is (m*/m)

1.0 h" 1.0 > 0.200°
ls = = = 0.000666667 (m*/m)
12 12
a) e}
(2 Pvi-Pm-Pn2) Rc*
O =
24 (N Es Is+0.0454 k Rc™)
(2 > 132.459 - 98.844 - 143.644 ) =< 1.6000*
T 24 > (0.8 =< 33>=<10° =< 666667><10"° + 0.0454 >< 40000 > 1.6000*)
= 0.000208 (m)
b)

g=k & =40000 = 0.000208 = 8.320 (kN/m?)

RC
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4-3

LTHEE Wo,Po
SRR AR RN AN
v WL

T

Y b )P

P
=
TTTTT P =k
1111 P,
-4.3

Pvi kN/m2 132.459
Pr1 kN/m? 98.844
PH2 kN/m? 143.644
Wi kN/m? 5.081
Pg kN/m? 15.962
q kN/m? 8.320
Rc’ m 1.6000
Is m* 666667><10"°
k kN/m?3 40000
Es kN/m? 33108
n % 80
Z % 25
o m 0.208><103

RC
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5-1
(1)
1

Mvi = T (1-2 sinP©@) Pwi Rc*

Nvi =Pvi Rc' sin’©

Qvi=-Pwi Rc' sin® cosO

-5.1.1
1)
(S)

(=) Mvi (KN m/m) Nvi (KN/m) Qv1 (KN/m)
0.0 84.774 0.000 0.000
10.0 79.661 6.391 -36.243
20.0 64.940 24.792 -68.114
30.0 42.387 52.984 -91.770
40.0 14.721 87.566 -104.357
50.0 -14.721 124.368 -104.357
60.0 -42.387 158.951 -91.770
70.0 -64.940 187.143 -68.114
80.0 -79.661 205.544 -36.243
90.0 -84.774 211.934 0.000
100.0 -79.661 205.544 36.243
110.0 -64.940 187.143 68.114
120.0 -42.387 158.951 91.770
130.0 -14.721 124.368 104.357
140.0 14.721 87.566 104.357
150.0 42.387 52.984 91.770
160.0 64.940 24.792 68.114
170.0 79.661 6.391 36.243
180.0 84.774 0.000 0.000

RC
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1

Mr1 = 7 (1-2 cos’©®) Pm Rc®

Nui = Pt Rc'  cos?© Pa R

Qu1=Pr1 Rc' sin® cos©

-5.1.2
1)
(]

(=) M1 (KN m/m) Nr1 (KN/m) Q1 (KN/m)
0.0 -63.260 158.150 0.000
10.0 -59.445 153.382 27.045
20.0 -48.460 139.650 50.829
30.0 -31.630 118.613 68.481
40.0 -10.985 92.806 77.874
50.0 10.985 65.344 77.874
60.0 31.630 39.538 68.481
70.0 48.460 18.500 50.829
80.0 59.445 4.769 27.045
90.0 63.260 0.000 0.000
100.0 59.445 4.769 -27.045
110.0 48.460 18.500 -50.829
120.0 31.630 39.538 -68.481
130.0 10.985 65.344 -77.874
140.0 -10.985 92.806 -77.874
150.0 -31.630 118.613 -68.481
160.0 -48.460 139.650 -50.829
170.0 -59.445 153.382 -27.045
180.0 -63.260 158.150 0.000

RC




Mro = % (6-3 cos© -12 cos’© +4 ¢cos*©O ) (Pu2-Pm) Rc™
1
NHo = ET) (cos® +8 c0s’© -4 cos’©O) (PHz-Pu1) Rc'
1 P
Qro = E (sin©@ +8 sin® cosO -4 sin® cos’©) (Pu2-Pmi) Rc'
-5.1.3
1)
(]

(=) Mo (KN m/m) Nro (KN/m) Qo (KN/m)
0.0 -11.947 22.400 0.000
10.0 -11.402 22.056 3.889
20.0 -9.787 20.988 7.639
30.0 -7.168 19.120 11.039
40.0 -3.684 16.408 13.768
50.0 0.420 12.929 15.408
60.0 4.779 8.960 15.519
70.0 8.913 5.008 13.759
80.0 12.277 1.765 10.009
90.0 14.336 0.000 4.480
100.0 14.666 0.397 -2.249
110.0 13.051 3.377 -9.279
120.0 9.557 8.960 -15.519
130.0 4.559 16.688 -19.888
140.0 -1.295 25.656 -21.528
150.0 -7.168 34.640 -19.999
160.0 -12.177 42.307 -15.399
170.0 -15.541 47.463 -8.369
180.0 -16.725 49.280 0.000

RC
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16

0 © i45°

Mq = (0.2346 -0.3536 cos©® ) q Rc™

Ng =0.3536 c0s©® g Rc'

Qq =0.3536 sin® q Rc'

45= © 90° J
q=ko

Mq = (- 0.3487 + 0.5 sin’© +0.2357 cos’©® ) q Rc™ -5.1.4

Ng = (-0.7071 cos© +cos?© + 0.7071 sin?©@ c¢cos®) g Rc'

Qq =(sin® cosO -0.7071 cos?’© sin®) q Rc'

90= © 180° Q 0 © 990° Qq
1)
(]

(=) Mg (kKN m/m) Ng (KN/m) Qq (kN/m)
0.0 -2.535 4.707 0.000
10.0 -2.420 4.636 0.817
20.0 -2.080 4.423 1.610
30.0 -1.526 4.076 2.354
40.0 -0.773 3.606 3.026
50.0 0.156 3.000 3.576
60.0 1.188 2.151 3.726
70.0 2.178 1.181 3.244
80.0 2.928 0.352 1.997
90.0 3.223 0.000 0.000
100.0 2.928 0.352 -1.997
110.0 2.178 1.181 -3.244
120.0 1.188 2.151 -3.726
130.0 0.156 3.000 -3.576
140.0 -0.773 3.606 -3.026
150.0 -1.526 4.076 -2.354
160.0 -2.080 4.423 -1.610
170.0 -2.420 4.636 -0.817
180.0 -2.535 4.707 0.000

RC



0= © 9%0°-

3

5

Mg:(? TT-0 sine—g cos®) Wy Rc™?

1
Ng =(©O sin© —? cos©®) Wy Rc’
1
Q=-(06 cose+E sin® ) Wq
90<= © 180
1 5

1

O O

-5.1.5

Mg=(—? TT+(TT-©) sine-? cose-? TT sinf®) Wy Rc™?

S

Ng =(-7T sin©®+© sinO + 71T 5sin’O - ) cos®) W; Rc'
1
Qi=((1TT-6O) cosO -T71T sSINO C0sO - E sin@ ) Wq
1)

(]

(=) Mg (kN m/m) Ng (kN/m) Qg (kN/m)

0.0 4.484 -1.355 0.000
10.0 4.255 -1.088 -1.633
20.0 3.585 -0.303 -3.130
30.0 2.531 0.955 -4.364
40.0 1.183 2.610 -5.219
50.0 -0.339 4.564 -5.598
60.0 -1.892 6.695 -5.430
70.0 -3.316 8.870 -4.670
80.0 -4.444 10.943 -3.305
90.0 -5.108 12.770 -1.355
100.0 -5.156 13.826 1.062
110.0 -4.509 13.683 3.538
120.0 -3.216 12.460 5.629
130.0 -1.435 10.424 6.978
140.0 0.591 7.942 7.357
150.0 2.577 5.430 6.695
160.0 4.241 3.290 5.078
170.0 5.345 1.858 2.735
180.0 5.731 1.355 0.000

RC




5-2

M= Mwvt + MH1 + Mo + Mq + Mg
N = Nvi + NHz + NHo + Ng + Ng

Q=Quvi+ Qi+ Qo+ Qq+ Qq

1) (C] )
o(°) M (kN m/m) N (kN/m) Q (kN/m)

0.0 11.516 183.902 0.000
10.0 10.649 185.377 -6.125
20.0 8.198 189.550 -11.166
30.0 4.594 195.748 -14.260
40.0 0.462 202.996 -14.908
50.0 -3.499 210.205 -13.007
60.0 -6.682 216.295 -9.474
70.0 -8.705 220.702 -4.952
80.0 -9.455 223.373 -0.497
90.0 -9.063 224.704 3.125
100.0 -7.778 224.888 6.014
110.0 -5.760 223.884 8.300
120.0 -3.228 222.060 9.673
130.0 -0.456 219.824 9.997
140.0 2.259 217.576 9.286
150.0 4.640 215.743 7.631
160.0 6.464 214.462 5.354
170.0 7.600 213.730 2.747
180.0 7.985 213.492 0.000

RC
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0= 80 40°=
M (1+Z) B (kN m) 17.274 -14.182 0.693
M (1-Z) B (kN m) 10.364 -8.510
N B (kN) 220.682 268.048 243.595
Q B (kN) 0.000 -0.596 -17.890
M1+l 25 ()
M1-Z 1.200 (m)

RC

19



5-3

(1) 11516 10,649
8.198

6. 0 =-0<
7985 7600
= 11.516 (kN m)
O =80<
= -9.455 (kN m)
(2) 183902 185377
189550
o 195.748
‘ 202.996
210.205
216.295
220.702
223373
224,704
90
224888
223884
222,060
219.824
180 217576
215743
214.462
213492 213730
O =100<
= 224.888 (kN)
. -11.166
0000 6125 -14.260
(3) -14.908

-13.097

0000 2747

O =40°
= -14.908 (kN)

RC



6-1

@)

Ki
Ki

Ki =

Ai

Ai

(h-u)

B h+n ( As+As")

(0.5 B h2+n (As d+As" d))/A

B (ud+(h-u)*)/3+n

z £ 2 <

(As (d-u)+As

(u-d)?)

RC
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@)
1) (Ki )
O¢c
g3
O AL
R I —1
Q| > | mow [ N
L | — 9|
o~ © o o0
a
= 1
Oy =
@) o \Bﬁﬁ}%/ ga
-6.1.1
N M
Oc= —+—— u Oca
Ai li
Oca : (N/mm?)
o : (N/mm?)
2) ( Ki N=0 )
P N
@ <
OC
o NS “—M ®
T < c
U . -« C
< P K
[ n
o -
R o~ %EME > T\ h/2-x/3
.\U ‘m T
% 5 e e/
-6.1.2

X%-3 (h/2-e) X?+(6 n/B) (As (e+C)+As" (e-C"))
X-(6 n/B)(As (e+C) (C+h/2)+As" (e-C') (h/2-C"))=0

M
B /2 (h/2 - x/3)+(n As'/X) C' (C'-h/2+X)+(n As/X) C (C+h/2-X)

n Oc¢ h
s = C+ - sa
o= — (C+—-X) ©
n Oc h
Gs':—(cl— +X) Osa
X 2

RC
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(Ki N O )
X N
"U{ L As “—057 o
: < C
5 < o
9 - Eq:mm ;:
O As Hmm !
g g ‘ » T \N/2-x/3
"U{ 'm \ )
% B (] e/
-6.1.3
(As + As") n (As+As") 2 n
X = -n + ( 2+ (d As+d" As")
B B
M
c = Oca
BXx/72(d-Xx/3)+nAs" (xX-d/X) (d-d")
d-Xx
Os = n Oc —— Osa
X
X -d
Os' = n Oc¢ — Osa
X

Osa

Os

Os

(mm)
(mm)
(mm)
(N/mm?)
(N/mm?)
(N/mm?)

RC
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B d

Qmax

1.15  Qmax

Ta

RC
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6-2

o(°) 0 80 40
B (mm) 1200 1200 1200
h (mm) 150 150 150
M (KN m) 17.274 -14.182 0.693
N (kN) 220.682 268.048 243.595
Q (kN) 0.000 -0.596 -17.890
d (mm) 115 115 115
As (cm?) 15.8880 15.8880 15.8880
d* (mm) 35 35 35
As’ (cm?) 15.8880 15.8880 15.8880
n 15 15 15
Aw (cm?)
o (7)
Ss (mm)
e (mm) 78 53 3
Ai (mm?) 227664 227664 227664
u (mm) 75 75 75
li (mm*/Ring) 413762400 413762400 413762400
Ki (mm) 24 24 24
f (mm) 78 53 3
X (mm) 72.4 90.0
o (N/mm2) 5.3 OK 4.3 OK 1.2 OK
o5 (N/mm?) 46.8 OK 17.9 OK
os' (N/mm?) 41.0 OK 39.4 OK 17.0 OK
Tc (N/mm?) 0.000 OK 0.005 OK 0.149 OK
Qc (kN)
Qs (kN)
ow (N/mm?)
Oca (N/mm?2) 16 16 16
Osa (N/mm?) 200 200 200
T2 (N/mm?) 0.73 0.73 0.73

RC
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6-3

ki

MO=(1- &) > M > B(N mm/Ring)

3 25%

NO(N/Ring)
NO=N><B
e (mm)
e = MO0 / NO =10364000 / 220682 = 46.96(mm)
Ki(mm)

ki=h /6 =150/ 6 =25

ob
oc=nx/ (Bx?/ 2 -n Asb(db - x)) (N/mm?)
X

x%+ 3ax? + 6 n/B Asb(a + db) x - 6n/B Ash db(a + db) =0

Asb = (mm2)
db = ( )
a=ze-h/2
h= ( )

ob

ob=n oc (db - x)/x (N/mm?)

RC
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1 9 5
B m 1.200 1.200 1.200
h m 0.150 0.150 0.150
MO kN m 10.364 -8.510 -
NO kN 220.682 268.048 243.595
db mm 85 65 85
Asb mm’ 1548.4 1548.4 1548.4
n - 15 15 15
E % 25 25 25
e mm 46.96 31.75 0.00
X mm 61.47 49.21 0.00
Ki mm 25.00 25.00 25.00
oc N/mm? 7.88 12.14 1.35
ob N/mm’ 45.27 58.43 0.00
oca N/mm’ 16 16 16
oba N/mm? 190 190 190

RC
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RC

w (mm) Imax (O_se / Es E'cs )
|max |I / 2 ( |ma>< |I / 2)
h=11 kI k2 k3 {4c+0.7Cs ¢ }

k1l 1.0
k2

k2 {15/ fc+20 +0.7}
fc

k3 1 1.0

k3 5n+2/7n+8 n

c (mm) dl-¢ /2

di (mm)

P (mm)

Cs (mm)

Imax

Es =2.1>10°% (N/mm2))
£'cs

150><10-¢

ose N/mm2

RC
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0.004c

k1=1.0
k2=15/ fc +20 + 0.7 =0.9419

fc = (ock 42(N/mm2))
k3 =1.0

lh=1.1>1.03>0.9419 =< 1.0 {4 >< 27 +0.7 157.143 - 16 = 214.264mm
@=16 mm
c=dl-¢/2=35-16/2=27 mm
Cs = 157.143(mm)
I /2=107.132mm

Imax Cc

Imx= Di+2 ¢ >< 71U/ ( 162 /Rlng)
= 3100 + 2 >< 27 > 711/ 62 =159.816 mm
Imax =Nh/2 Imax

W mm Inx oOse/ Es+ &'cs

Es = 210000 (N/mm2)
£'cs = 15010
Imax = 159.816mm

Ose(N/mm2) W(mm) Ose(N/mm?) W(mm)

46.80 0.060 17.90 0.038

w 200 0.108 200 0.108
OK OK

RC
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50

10mm

SRS VZEF TR

Gy 5- Be
4 [ | I |
| PA ‘ f
SMETryE LEERL 5o
- -7.1
O max
Pi h" /2
Omx = —+Pji1 e Ocas
Ao I'
Ao = Bs h'
Bs h®
" =
12
Pi kN 1000
Bs mm 700
e mm 10
h' mm 200
Ao = Bs h'" = 700 >< 200 = 140000 (mm?

Bs h'® 700 > 200°
o= = = 466666667 (mm*)

12 12
1000000 200/ 2
Omax = —————— + 1000000 >< 10 < ————————
140000 466666667

9.3 (N/mm?)  Ocs = 22.5 (N/mm?) OK

RC
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9.
9-1 ( )
— 1o
@7 A 7299999994 B mm 1200.00
PEEEEERE S
. ; l lo mm 85.00
- li mm 65.00
‘ x1 mm 61.47
BeB M=
-9.11
M
Am = 925mm? (PL t = 11mm B = 100mm)
FCD500(Csa =190N/mm?)
=mb=2
M = 10.364 (kN m/m)
N = 220.682 (kN/m)
1 Po1 (N/Ring)

P =(M-xi N)B/lo

= (10364 - 0.06147 > 220682.00 ) >< 1.20 / 0.085

= -45195.142

Obr =P/ mb Awm

= -45195.142 / (2 < 925)

=-24.430 190 (\/mm?  OK

RC



9-2

Asb = 1548.4mm? : D13(ota = 200N/mm?)

M = 10.364 (kN m/m)

N = 220.682 (kN/m)

1 Pu  (N/Ring)

Pu = (M - X1 N)B/Uo

= (10364 - 0.06147 > 220682.00 ) > 1.20 / 0.085

= -45195.142

X1 : (mm)

U (mm)

Oul

Ou = Pu/ Asbh

= -45195.142 / 1548.4

=-20.188 200 (N/mm?  OK

RC
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33

1)
N
(H) (N) () © ¥) ) _
1.890 15 20 0 17.500 8.500
<7 GL-1.89m
1.410 15 20 0 17.500 8.500
1.000 5 0 15 16.500 7.500
H0=9.300m
£
¥
~
1
=
T E E 4.200 33 28 0 18.000 9.000
—
© ®
73
s =
I
0.800 41 32 0 19.000 10.000
D0=3.400m
vy =19.000
y'=10.000
@)
10 kN/m?
N) 0.40
(k) 40 MN/m3

RC



Pui | KN/m? 132.459
PH1 kN/m? 98.844 s
i 0,Po
Pro | W] 143,544 LI
Wy kN/m?2 5.081 A
Py | kN/m? 15.962 ER TR
q | kN/m? 8.320 . Ho
) TTIT P }
Rc’ m 1.6000
Is m¢ | 666667>10" B - ey
k kKN/m3 40000 A
Es | kN/m? 331068 . o Hﬁ
o ’ %0 A G O
< % 25
S m 0.208>10-
Do mm 3400
( ) Di* mm 3000
B mm 1200
h* mm 200
( ) Re' mm 1600.0
o < 0
ns 5
D16@8 Ast cm? 15.888
D16@8 As2 cm? 15.888
d1 mm 35
d2 mm 35
( s 5
( ) Nbr 13
( W:r | kN/Ring | 61.290
(m_) Wy | kN/m | 51.080
( ) Pi kN 1000

RC




o(°) 0 80 40
B (mm) 1200 1200 1200
h (mm) 150 150 150
M (KN m) 17.274 -14.182 0.693
N (kN) 220.682 268.048 243.595
Q (kN) 0.000 -0.596 -17.890
d (mm) 115 115 115
As (cm?) 15.8880 15.8880 15.8880
d* (mm) 35 35 35
As’ (cm?) 15.8880 15.8880 15.8880
n 15 15 15
Aw (cm?)
o (7)
Ss (mm)
e (mm) 78 53 3
Ai (mm?) 227664 227664 227664
u (mm) 75 75 75
li (mm*/Ring) 413762400 413762400 413762400
Ki (mm) 24 24 24
f (mm) 78 53 3
X (mm) 72.4 90.0
o (N/mm2) 5.3 OK 4.3 OK 1.2 OK
o5 (N/mm?) 46.8 OK 17.9 OK
os' (N/mm?) 41.0 OK 39.4 OK 17.0 OK
Tc (N/mm?) 0.000 OK 0.005 OK 0.149 OK
Qc (kN)
Qs (kN)
ow (N/mm?)
Oca (N/mm?2) 16 16 16
Osa (N/mm?) 200 200 200
T2 (N/mm?) 0.73 0.73 0.73

RC
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1 9 5
B m 1.200 1.200 1.200
h m 0.150 0.150 0.150
MO kN m 10.364 -8.510 -
NO kN 220.682 268.048 243.595
db mm 85 65 85
Asb mm’ 1548.4 1548.4 1548.4
n - 15 15 15
& % 25 25 25
e mm 46.96 31.75 0.00
X mm 61.47 49.21 0.00
Ki mm 25.00 25.00 25.00
ocC N/mm’ 7.88 12.14 1.35
ob N/mm* 45.27 58.43 0.00
oca N/mm? 16 16 16
oba N/mm? 190 190 190

RC
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O'se(N/mm2) W(mm) Ose(N/mm?) W(mm)
46.80 0.060 17.90 0.038
200 0.108 200 0.108
OK OK
Cmax 9.3 (N/mm?)|  Oas = 22.5 (N/mm?) oK
:Ob | -24.43 (N/mm?) Osa = 190 (N/mm?) OK
ou -29.19 (N/mm?) Ot = 200 (N/mm?) OK

RC
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